SH6EE BEEEEZEE/NAL—R—ILKE FERPRS
F11HRFE [%F] BR

Of#iH 464482008 (1)-218(H) 8:30B4 9:303EH A
O£ FTERIRLESEER

O4T L—TD1ELOF—LHRE—J ITHIET 5.

a TR Fl BIERWF % a =t
I 2 U5 -8 Jol2 (2B -630o|l 2|0 7
il 0oL 8 %8 0 (2 _ 33 2] 0| 2 3
BEALF 0 [ 6 — 351 2|2 [ 3 2% 0 1] 1 2
b ARETE NI LB BE=IrDFHF % a =t
BRATHE 2 [ 35 -4 ) o2 (3 _T830] 2] 0 7
BRI 0o [ 4 _ % 2 0o C 5 — 323 2] 0| 2 3
FUUBEADHE |0 [ 18 — 35 ) 2|2 [ 8- 8 1 o 1] 1 2
c N IFAR Rl B | B e
WEEIE 2 R -1 ol2 2 -T30l 2] 0 /
[/NEPASES 0[185:5212 2[%2:%]0 1 1 2
TR o 174 - %g J 20 C %(1) - %g 1 2 0 2 3
d WEER N FHER B | a I3z
7% — 14 7% — 14
WEEE 2 [ 25 —22 ) of|2 [ 25 —221) of 2 0 7
ng 0 C 2 — 38 1 2 1E§i:§§]2 0| 2 3
HEGAR o[%‘z‘iﬁgjzztggiéij1 1] 1 2
O4F—LTY—THETL, Li2F—LARKXEIZHIET 5,
O2-3ID8F—LTHREFEDL—FROEITS,
| Ri)—5 |
TILF BARAETE WF BB WFEE BR
iR N % )| 2 (B _ 183 0|2 LR -1 o0 ftx
BRETE C X ) 2 (B -3 ol2 (B0 ®x
WFRERE 0[%:%2] 20[%2:5212 2 [%g:%]o
WRER 0[182:52120[%3:52120[58:%]2
i X EfI2F—LARELIZOT, EifEtEd,
[ >—FapHr |
|
|d2‘ HEHR | 17 — 25
2 gg — $1 o1
o8 I ! 25 — 20
| 2 [ 25 —20 1 of
|b3‘ ol | xxie 25 — 0
2 025-01J0 [EX=HIE]
a2 BERRF ! s SR /N
| YR N=
o] mussEroR | — & MR
2 [ 25— 7 3 o0 & ARAETE
= Al ! 23 — 25
|  BIR T
|d3‘ e | 25 — 19
2 [ 25 —19 1 o0
c2 [N ZPANESS !




